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1. BEEROE
(1) BN
ZERBI RS [ 30,420,000 ] [ 0] [ 30,420,000 ]
BEREAZAY Y b 30,420,000 0 30,420,000
ZRE [ 450,000 ] [ 700,000 ] [ A250,000 ]
i=UE- 450,000 700,000 A\ 250,000
BEUN AT 30,870,000 700,000 30,170,000
(2) RB=BEA
HEE [ 30,420,000 ] [ 0] [ 30,420,000 ]
EiEER (FH) 30,420,000 0 30,420,000
EEE [ 372,678 ] [ 488224 ] [ A115546 ]
B E{EH 0 246,830 A\ 246,830
3 R 110,000 110,000 0
EBRER (B8 198,000 99,000 99,000
REHE 61,890 30,945 30,945
I F R 2,788 1,449 1,339
R it 30,792,678 488,224 30,304,454
LR T IEREE 77,322 211,776 A\ 134,454
2. BENEROES
(1) BEMINE [ 198 ] [ 0] [ 198 ]
SEUF B 198 0 198
(2) ®B=NER [ 0] [ 0] [ 0]
LR B AR 198 0 198
65| B 2 HA— A% IE BB E 8RR 77,520 211,776 A\ 134,256
EABL, ERBMRUOEER 71,000 35,500 35,500
U HA— A IE BRBA FE G RAE 6,520 176,276 A\ 169,756
— MR IER ERE RS 176,276 0 176,276
— B ERMERRES 182,796 176,276 6,520
Il 57T (BRI LR D B
L HATE T 1E R EE IE RRR 0 0 0
IEEERMERE RS 0 0 0
EE BRI ERAR A S 0 0 0
Il EREERRES 182,796 176,276 6,520




